' GROUP 2 ENGINE SYSTEM

ENGINE AND ACCESSORIES MOUNTING

25099CM01

» 8.@@ 7S

Air cleaner

A

- Tightening torque

@
[Te)
.._u3.2um
R
5™ ol
- | O
™|~
c | Q
™|~
o
S F A
j=24 | N~
=< n | o
To]
N Qo
o |~ |N|™
N | X | X | X
NN o |
- AN
= ==
m456
=
— |~
©|ls| =
= ||~ AN
A H
2 |- |9 ©
[ce o)
— <O
Y| <
€E |lo|l~™
g R
[=2 N o )]
~|la|o|a
b
Yo}
Qlw|~
e.4|4|
N | S| x| x
Pl 2N
= ==
m123
=

9-2



COOLING SYSTEM AND FUEL TANK MOUNTING

Hyd tank

Fule tank

Fuel filter

Air con
idle pully

Pre-filter

Air compressor

~ Condenser

25099CM02

- Tightening torque

ltem Size kgf - m Ibf - ft ltem Size kgf - m Ibf - ft
1 M6x1.0 1.05+0.2 7.6+1.45 7 | M12x1.75 | 12.8+3.0 92.6+21.7
2 M6x1.0 05+0.2 3.6+1.45 8 M16x2.5 20.7+45 215+32.5
3 | M8x1.25 25+0.5 18.1+3.6 9 | M20x25 46+5.1 333+36.9
4 | M8x1.25 1.3+0.2 9.4+1.45 10 | M20x2.5 57.9+8.7 419+62.9
5 M10x1.25 5.0+0.2 36.2+1.45 11 - 1.8+0.1 13+0.7
6 | MI0x15 69+14 49.9+10.1

9-3






